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LABOUR WELFARE & INDUSTRIAL RELATIONS
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

1. Examine the following statements on planning. Identify the ones which are either true or

false.

(a)
(b)
(©
(d)

(e)
(1)
(2)
3)
4)

VMG is an embodiment of planning.
Planning and controlling are separable.
Planning period is crucial both for routine and strategic purposes.

The commitment principle of planning implies that long range planning is not really
planning for future decisions but, rather planning for the future impact of today’s

decisions.

Planning is a top management’s prerogative and therefore not all pervasive.
(a), (c) and (d) are true; (b) and (e) are false.

(a), (b) and (e) are true; (c) and (d) are false.

(b), (d) and (e) are true; (a) and (c) are false.

(a), (b) and (d) are true; (c) and (e) are false.

2. Examine the following statements on the control process in management. Identify those

which is/are true and those which are false :

(a)
(b)

(©

(d)
€]
2
3)
4

Paper-I1

Plans set the yardstick against which managers device controls.

There are multiple standards against which performance is measured at different
points of time.

There are no internal mechanisms for correction of deviations and so control is done

always at the end.

Control has a feedback value which may or may not have value for future planning.
(a), (b), (c) are right, (d) is wrong.

(a) and (b) are right, (c) and (d) are wrong.

(b) and (c) are right, (a) and (d) are wrong.

(a), (b), (d) are right, (c) is wrong.
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3. Applying V.A. Garicuna’s formula, how many direct group relations would occur in the

span of control when the ratio of supervisionis 1:6 ?
202
232

)]
3)

4.  Who coined the term ‘scientific management’ ?

(1)
3)

Frederick Winslow Taylor

Louis D. Brandies

Henry R. Towne
Henry L. Gantt

5. Match the following management techniques (List — I) with their propounders (List —II) :

a.
b.
c.

d.

MBO as a system of managerial leadership

TOWS matrix of strategic planning

List -1

Delphi Technique

Brain storming

Codes :

ey
2
3)
“4)

a
ii
iii
v

11

v

i1

i1

11

v

v

i1

11

1il.

1v.

List - II
Heinz Weihrich
Alex F. Osborn
George Odiorne

Olaf Helmer

6. A company decides on the following recruiting yield pyramid :

The ratio of offers to actual new hires is 2 : 1, where new hires will be 50.

The ratio of candidates interviewed for offers is 3 : 2.

The ratio of candidates invited for interviews to candidates interviewed is 4 : 3.

The ratio of candidates to be called for to candidates applied is 1 : 6.

Then how many applicants the company must have generated ?

(1)
(3)
Paper-I1

1000
1200

4

1100
1400
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7.  Choose the correct answer from the following :

Piece — Wage is calculated as

)]
2
3)
4

Wages = No. of hours worked x Rate per hour

Wages = No. of units produced X Rate per unit

Wages = No. of units produced X Rate per hour

Wages = No. of hours worked x Rate per unit

8.  Examine the following statements about Grievance handling and identify the ones which
are true :

(a)

(b)
©

(d)

(1)
3)

The Indian labour conference adopted the code of discipline which embodies the

model grievance procedure.

The model grievance proceure adopted a time bound step ladder system.

The Industrial Disputes Act, 1947 has provided for grievance redressal machinery
making provision for having Grievance redressal committee in every organization.

d . .. . . .
The 2" National Commission on labour recommends for constitution of Grievance

Committee in every establishment.

(a) and (b) (2) (a),(b), (c)
(a), (b), (d) 4 (a), (b), (c), (d)

9.  Match List — A with List — B and choose the correct answer by using the codes given :

List— A

a. Quantitative methods for demand forecasting
of Human Resource in an organisation

b. Qualitative methods for demand forecasting
of Human Resource in an organization.

c. Quantitative methods for forecasting supply
of human resource in an organization

d. Qualitative methods for forecasting supply of
human resource in an organization

Codes :

a b c d

(1) iv i i i

(2) ii i i iv

3) iv i i

4) i i iv i

Paper-I1

il.

1il.

1v.

List- B
Delphi Technique

Markov analysis

Skill inventory

Managerial Judgement

J-55-16
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10. When the head of the Personnel Department reports directly to the corporate head with
different functional heads representing personnel administration, industrial relations and
labour welfare reporting to him; the nature of the Personnel Department is

(1)  Split-function staff co-ordinated department
(2) Integrated independent department
(3)  Split-function independent department

(4) Extended independent department

11.  Which of the following statements are true/false about a dyadic unit ?
(a) A dyadic unit is defined in terms of an employee and his supervisor.
(b) The stronger dyads weaken organizational linkages.
(c) Helping relationship in a dyad is a one way process offered by the supervisor.

(d) A dyad will prosper despite absence of trusting relationships between the employee
and the supervisor.

Codes :

(1) (b) is true, (a), (¢) and (d) are false.

(2) (a)is true, (b), (¢) and (d) are false.

(3) (d) is true, (a), (b) and (c) are false.

(4) (a) and (c) are true, (b) and (d) are false.

12.  Which of the following statements are true/false about competency mapping ?
(a) Leads to increased manpower costs.

(b) Caters to ensuring availability of competent people for performing various critical

roles.
(c) Caters to downsizing and the consequent needs.
(d) Leads to reduced manpower costs and pass on the advantage to the customer.
Codes :
(1) (b), (c) are correct and (a), (d) are false.
(2) (b), (c), (d) are true and (a) is false.
(3) (a), (b), (¢) are true and (d) is false.
(4) (a), (b) are true and (c), (d) are false.

Paper-11 8 J-55-16
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13. Performance Appraisal serves four basic organizational objectives. Match basic

organizational objectives (Column-A) with the specific activities it relates to (Column-B) :

Column - A Column - B

(Basic Organisational Objectives) (Specific Activities)

a. Developmental 1. Salary

b. Administrative/Decisions ii.  Criteria for validation research

c. Organisational maintenance iii.  Reinforcement of organizational
development needs

d. Documentation iv. Identification of individual
strengths and developmental needs.

Codes :

a b c d

(H iv il i iii

(2) i it v i

3 i i il v

4) iv i i il

14. Match the following techniques of training listed in Column — A, with their descriptions

listed in Column — B :

Column - A Column - B
(Techniques of Training) (Description)
a. Ice Breakers 1. Role-play with pre-determined objectives
b. Strategic Planner ii.  Exercise to teach plurality of views
c. Role Reversal iii.  Insight into a given interaction
d. Mirroring iv. Games to test ability to plan ahead
e. Monodrama v. Training with an external perspective
f.  Structured Role Playing vi. Games to get team members know each other
Codes :
a b c d e f
(1 1 i ivovoowvi
2) i il i vi v oiv
3) iv v i 1 m - vi
@ vi v ii v il 1

Paper-I1
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15.  Which of the following statements are true/false about theories of motivation ?
(a) Content theories emphasize the importance of inner needs in motivation.

(b) Process theories assume that all employees, and situations are alike and there is one

best way to motivate all employees.

(c) Content theories view motivation as an individual’s decision to act so as to put forth

same given level of effort.
Codes :
(1) (a) and (b) are true, (c) is false.
(2) (b) and (c) are true, (a) is false.
(3) (a) is true, (b) and (c) are false.

(4) (a) and (b) are false, (c) is true.

16. Mintzberg was the first person to use and elaborate the term ‘Managerial Roles’. The

Roles fall under three groups : Interpersonal, Informational and Decisional.

Match the Group (List — A) with the Managerial roles (List — B) :

List— A List- B

(Group) (Managerial roles)
a. Figurehead 1. Interpersonal Roles
b. Negotiator ii. Informational Roles
c.  Monitor iii.  Decisional Roles
Codes :

a b c
(H i i il
(2) il il i
3) i i i
@ i i i
Paper-11 12 J-55-16
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17. Which of the following statements are not true ?

(a) According to Behavioural theories, success can be defined in terms of describable
behaviour.

(b)  According to Trait theories people are not born with certain inherited traits.
(c) Democratic leaders involve their people in decision making.

(d) According to F.E. Fiedler relationships, power, and task structure are not the key
factors that drive effective leadership styles.

(1) Both (a) and (c)
(2) Both (b) and (d)
(3) Both (a) and (d)
(4) Both (a) and (b)

18.  'Who among the following said that there are three basic needs that people have :
. to give and receive affection (affection),
o to control others and be controlled by others (control),
o the need to socialize and interact with people (inclusion)
(1) Sigmund Freud
(2) Maslow, A.
(3) Murray, H.
(4) Schutz, W.C.

19. OB has been influenced by which of the following trends :
(a) The systems approach
(b) The socio-technical system approach
(c) The contingency approach
(d) The interactional approach
Codes :
(1) (a), (b) and (¢)
(2) (b), (¢) and (d)
(3) (), (b), (c) and (d)
(4) (a)and (d)
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20. The present context of work organization is changing very fast. Lawler contrasted the ‘Old
Logic’ with the ‘New Logic’ in this regard.

Which of the following statements are the Lawler’s propositions on ‘New Logic’ ?
(a) Bureaucracy is the most effective source of control.

(b) Lateral processes are key to organisational effectiveness.

(c) Top management and technical experts should add most of the value.
(d) Organisations should be designed around products.

(e) Effective leadership is the key to organizational effectiveness.

(f)  Organisation is a secondary source of advantage.

Codes :

(1) (a), (c) and (e)

(2)  (b), (d) and (e)

(3)  (b), (d) and (f)

4) (), (c), (d) and ()

21. The marketing theory of collective bargaining was developed by
(I) Richard Walton and Robert McKersie
(2) N.W. Chamberlain and J.W. Kuhn
(3) John T. Dunlop
(4) John Henry Richardson

22.  Who started the publication of the English Weekly called ‘Socialist’ in 1923 ?
(1) S.A. Dange (2) Muzaffar Ahmad
(3) N.M. Joshi (4) Ansuya Ben Sarabhai

23. According to whom, trade unionism is not an instrument for the revolutionary overthrow
of the capitalist order but, on the contrary, is a means of equalizing the bargaining power
of labour and capital ?

(1) Selig Perlman

(2) Sydney and Beatrice Webb
(3) Karl Marx

(4) Frank Tannenbaum
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20. FHF TS P TIHH YRS Bl oSl § T5c1 @l & | TeeR o 39 T6Y § WA a6’ 3R AT
TH T IR fhar & |
1 & B ¥ U T T o TS H oAGoR o b ao © 7
(a) TSRl FIE0T BT Faiteeh wrelt i & |
(b) TS VTHATE TTSATCH TSR i ol ¢ |
(c) STF VEYA 3 T [aRITSI ol ST JoT T T8 BT AT |
(d) TS Pl SR % STAR ST AT ST AT |
(e) Wl Sfeel WISHTCHSh TTEehiNel ol Shotl & |
(f) TS T T IO EA ¢
£
(1) (@), () 3R ()
) (b), (d) 3R (e)
3)  (b), (d) 3R (D)

@) (a),(c), (d) 3R (D

21. WMfe Aarsit i fouur fagia forass gRT fastad femar mar ot 2

o ¢

(1) = e AR o Tl

(2) TAZEY, TEReH 3R T, Fod
(3) M2 T

(4) FF e REee

22, & 99 1923 H TR TSI TedTieeh ol Tehe 3T TRt o1 2
(1) UHT = (2) TTFR 3EHT
(3) UATH. S (4) 3TTHEAT o AR

23, 7Tk 3TER 91 HEATS USTaTaT e i ShitdeRl 9 H SETE e T Qre el &, o sah
TaoRie g% 9/ 37R UST i GiqaTsTr IifeRT T RIS e T Teh AT ¢ 2

(1) Qe Tetdq
(2) o 3R 99 e
(3) T AR
(4) T TEISY
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24. Which of the following statements relating to collective bargaining is not correct ?

)]
2)
3)
4

Collective bargaining can take place at the industry level.
Collective bargaining can take place at the corporate level.
Collective bargaining can take place at the plant level.

Collective bargaining cannot take place at the craft level.

25. Arrange the following developments that took place in the trade union movement in India

from the earliest to the latest.

(a)
(b)
(©
(1)
(3)

Formation of AITUC.

Formation of Indian Trade Union Federation

Formation of Red Trade Union Congress.

(a), (c) and (b) (2) (), (b) and (c)
(c), (b) and (a) (4)  (b), (a) and (c)

26. Under which type of collective bargaining one party gains at the expense of another party ?

(1)
2
3)
4

Distributive Bargaining
Integrative Bargaining
Intra-organisational Bargaining

Concession Bargaining

27. Which of the statements, relating to the criteria for recognition of unions prescribed under

the code of discipline is not correct ?

)]

2

3)

4

Paper-I1

Where there is more than one union, a union claiming recognition should have been
functioning for at least one year after registration. Where there is only one union this
condition would not apply.

A union may claim to be recognised as a representative union for an industry in a
local area if it has a membership of at least 25 percent of the workers of that industry
in that area.

When a union has been recognised, there should be no change in its position for a
period of three years.

Where there are several unions in an industry or establishment, the one with the
largest membership should be recognised.
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24, e Fal & Gay A fFfAfad § @ B O e 9l T 8 ?
(1) s FRaTsT ST TR W el Tt € |

(2) UHEF GRS HRUNS T W &l Tt € |

(3) WHfes HigaTST Fa R 9 &l T ¢ |
(4) Wfe HRaTST o =1 (3hI92) o T O 6l 81 el € |
25. 9RA H URY ¥ ol 8T & GHT I gU HSIgE T 3TRIe & (He=fefad geAmhal &l Ugel § a8
%Wﬁmﬁ@lﬁaﬂﬁ?:
(a) WIS HL. HT A
(b) e I JHIT HEWH I T
(c) T T IFIT HIUT FHT T
(1) (@), (©) 3R (b) (2) (@), (b) 3R ()
3)  (©), (b) 3R (a) @) (b, (@) 3R ()

26. T UHR T THlesh TGS o ST Ueh YeTeh hl oY TEY Y&ThR i &1 & UIed el § 2

(1) TR Hikars
(2) FHfHT Dams
(3) 3T TSATCHS HigaTS

(4) fEmEd deeamst

27. HH P AT & (O SR iedT & 3T (HiRd WHgUel & T | i AT B Tel el
T?
(1) STt U | SART T § 9t 7=t 6l q0a7 X W 9 6l A=l & Jd HH-H-FH0 TF 99 d6
USTIRROT 3 SIS 1 Tl T&T e | STaT shaol Ueh TH ¢ 9 I8 I o] A&l &t |
(2) T T TR T & T [hal ST & T WM 99 & &9 § T 1 S1aT ST Fehdl
2 I 5k U 39 & W 39 &N % BRI ! HH-H-HH 25 FA9r TS 8l |
(3) STET Tepdlt Her T Wl <1 TS Bl GRT o 9y ol Sty o [olq ghehl [l § whig e el
FHT =T |
(4) ST THE ST A UfTRE W % W & 8l Uehan HIaT atel WY WAl &1 ST
T |
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28.

29.

30.

31.

32.

The Second National Commission on labour suggested that the selection of a registered
trade union as a recognised union should be based on

(1) Vertification of the fee-paying membership of the union.
(2) Election by secret ballot
(3) Check-off system

(4) Any method that is convenient to the employer

Arrange the following schemes of workers’ participation in management basing on the
years in which those were introduced in India starting from the earliest to the latest.

(a) Joint Management Councils

(b)  Unit Councils and Joint Councils in commercial and service organizations in the
public sector.

(c) Board-level participation
(1) (a), (b) and () (2) (), (c) and (b)
(3)  (b), (@) and () (4)  (c), (a) and (b)

The Second National Commission on labour recommended that once a union is granted
recognition, the recognition status of the union should be valid for a period of

(1) Two years (2) Three years
(3) Four years (4) Five years

The valuation of Assets and Liabilities of the E.S.I. Corporation shall be made by the
values with approval of the Central Government at an interval of

(1) Two years (2) Five years
(3) Four years (4) Three years

Which of the following is not true relating to the constitution of the Site Appraisal
Committee under the Factories Act, 1948 ?

(1) The chief inspector of the state shall be the chairman.

(2) There should be a representative of the meteorological department of the
government of India.

(3) There should be one representative of the State Legislative Assembly.

(4) There should be a representative of the local authority within whose jurisdiction the
factory is to be located.
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28.  HF TaHl T ALE A F T8 G 2 o7 T Usiighal 51 el 1 U WAl Wi 6 o ®9 H
= SR BT T

(1) &= % Yo YA Y T G % GearoT 0T

(2) T HAHE SR g W
(3) Th-3ATH TUTEAT W
(4) e % for gl S fafty

29, ORA Y Uy T HETRT i IIERT ¥ Herid g Jisratl i, TR T T &leT o & a1,
STa 3% A fohAT T, S SITER OX AT Hit

(a)  FIHRT e AREg

(b) TSN & H AT Td Hall TeAl § HE URug 37 Te uRug
(c) IS & W 9riEr

(1) (a), (b) 3R () 2) (a), (c) ¥R (b)

3)  (b). (a) 3R (c) @) (o), (a) ¥R (b)

30. fdia Uig 9w A 1 g FAHRe o € o U 9N S B GH g WS Y &l STl 8
Al G= st A {6 ety d% % fow o et 2

(1) = et fog (2) o aut % ferg
(3) TR a6 & few (4) dr= amt % fog

31. ThoHT @M & I W HE WHR & ART ¥ odihhal §RI SUH.STE, 7 @i
URGETEAT 3T AT T Goaieh TohaT STa 2

() Trag (2) U=y
(3) =Ray 4) d=Tad

32. HRGMI AT, 1948 & Fd Tl Hodish-T QAN o e & Gag ¥ (=faiad 7 § 1 Tt
T T ?
(1) T~ 1 g et 3Teaet e |
(2) YRA R o HH fam Heell Tt 61wk ufafaf g =mfew |
(3) =T T /AT T Uk UiAHTd eFT =18y |
(4) AT WTSHIOT T Teh WA BT AET STHeh &b H SREMT T 21 ¢ |
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33.

34.

35.

36.

37.

Calculate the amount of bonus an employee shall get under the Payment of Bonus Act,
1965 at the highest rate of 20% if his wages/salary is ¥ 18,000 per month.

(1) % 14,000 (2) 16,800
(3) 16,000 (4) 36,000

Calculate the amount of compensation that an employee is to be paid, who suffers from
permanent total disablement from an injury, under the Employees Compensation Act,
1923 (Monthly salary of the employee is ¥ 21,000 and the relevant factor is 216.91)

(1) R 15,14,264 (2) %27,33,066
(3) 10,41,168 4) 9,111,022

Which of the following shall not be considered to be unavoidable circumstances beyond
the control of the employer for closing down of an undertaking under the Industrial
Disputes Act, 1947 ?

(a) Financial difficulties including financial losses.
(b)  Accumulation of undisposed of stock
(c) The expiry of the period of the lease or licence granted to it.

(d) In case of an undertaking engaged in mining operations, exhaustion of the minerals

in the area in which such operations are carried on.
(1) (a), (b) and (¢) (2) (a),(c) and (d)
(3) (b), (c) and (d) (4) (), (b), (c) and (d)

Which article of the Indian constitution prohibits the employment of children in factories,

mines and other hazardous employments ?
(1) Article 23 (2) Article 42
(3) Article 24 (4) Article 43

Under the Payment of Wages Act, 1936 for which of the following establishments the

State Government is the appropriate government ?
(1)  Air Transport (2) Mines and Oilfields
(3) Ports and Docks (4) Railways

Paper-11 22 J-55-16



33.

34.

35.

36.

37.

s fordl EE i Wi TeIgd/aaE % 18,000 € o 99 W3 stfutEm, 1965 % 3T 20
eI =l STadH 3T H 3 U 81 arell S 19T 3l 70T Y |

(1) % 14,000 (2) 16,800
(3) 16,000 (4) 36,000

FHART ifqgia A= 1923 % Srid YRING &fd § T 9ol ST97ar g &t fefd o fodt
FHHAR B PO fHT T aTeT efqufd i GAT B TOET HL | (HHART HT WS o
321,000 & 3R GET HRF 216.91 € 1)

(1) T15,14,264 (2) ¥ 27,33,066

(3) %10,41,168 4) %9,11,022

aAenfires foemg atfuf=m, 1947 & iaria fwdt SUHA & o5 [hd ST & foru faremr o fEeor 9
A 9 o6 e uRieiqar o foam &t fhar sem 2

(a) foxiia = Sfea foxiia wicreat

(b) Wi & M Tl T ST T T

(c) UET 3TIAT 3Tk Ty Tlhe SR bl 3Tafer i Foife

(d) T TGl | oF SWHA %, U &1 ST UH el 9e1 1@ &, @St o 9 ot fefa o
(1) (a), (b) #AR () 2) (@), (c) IR ()

(3)  (b), (c) IR (d) @) (), (b), () 3R (d)

TR GiaU T i T ST HREFT, HI Ta 37 TaRATh ASHRI § Tedi & e &
Tty e & 2

(1) =g 23 2) BT 42

(3) T 24 (4) =T 43

TG T A=, 1936 % Siavd e | 9 fofe Ui o foft T8 TR gfad TR
T?

(1) o I (2) @H T ot &
(3) O e S 4) ¥@
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38. For calculation of the bonus to be paid to an employee under the current provisions of the
Payment of Bonus Act, 1965, which of the following shall be taken into consideration ?

)]

2

3)
4

Seven thousand rupees or the minimum wage for the scheduled employment, as
fixed by the appropriate government, whichever is higher per month.

Seven thousand five hundred rupees or the minimum wage for the scheduled
employment, as fixed by the central government, whichever is higher per month.

Eight thousand rupees per month

The monthly wage or salary drawn by an employee subject to a maximum of
twenty-one thousand rupees.

39. Match the authorities under List — A with respective legislations under which theory are
covered as provided under List — B :

List— A List- B
a. Commissioner 1.  The Employees Provident Fund and Misc.
Provisions Act, 1952

b. Controlling authority ii. The Employees Compensation Act, 1923
c. Recovery officer iii. The Mines Act, 1952
d. Certifying surgeon iv. The Payment of Gratuity Act, 1972
Codes :

a b c d
(H 1 i ivoil
2) i i iv il
3) i v i il
4 iv il i i

40. Under the provisions of the Industrial Disputes Act, 1947, which of the following
statements are not true relating to general prohibition of strikes ?

(a)

(b)

(©

(d)

ey
3)

Paper-I1

During the pendency of conciliation proceedings before a conciliation officer and
seven days after the conclusion of such proceedings.

During the pendency of conciliation proceedings before a Board of Conciliation and
fourteen days after the conclusion of such proceedings.

During the pendency of proceedings before a Labour Court and two months after the
conclusion of such proceedings.

During the pendency of proceedings before National Tribunal and three months after
the conclusions of such proceedings.

(a), (b) and (¢) (2) (a)and (d)
(b) and (d) (4)  (b), (¢) and (d)
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38. ST 95 STEH, 1965 % SAHM SUSHT & 3T [ShAl HHERT T ST T A B i
0T % forw Fefefad & @ fohg WX foar foman s 2

(1) I &SR TIF AT 3FgFad ISR & ol aqfad TR gRT i g=ae 7eigdy, st ot
e ST & |
(2) 9T ESIR U T S AT SR ASHIR o ToIT ey TR gRT iR =gem Aetey i off
e ST & |
(3) 3SR W UiaHTE |
(4) ATHTH TFRIT &SR T & A ol HHAR! FRT T3 72T AT eTg a1 o |
39. AT — A % WITSRIRAT Sl Heitad foremi Sk it Sv¢ eHel fohar ST & S get — B |
WW%@WW
Tt - A =t - B
a. gH i, AR vfasy MY SR el Susy s,
1952
b.  TeoT mierert ii. FHHR Afdayid ataf=e, 1923
c. Tge UHR iii. @ 2AaFEE, 1952
d. DI S At §ei iv. IUM HEE AEHEH, 1972
%
a b c d
(H i i iv ii
2 1 1 v il
3) i v i 1ii
@ iv di il 1

40. 3Enfe foarg sfufEm, 1947 & SUHl & a9 § § & 9 T ggdiel & gy oy
o Hay | TEl T § 2

(a)

(b)

(©

(d)

ey

3)
J-55-16

fendt TreEiian el & Tet qUeiian HEdE! % Afed T & SRH 3K T HEatea o
I o T 9T {51 7k

THAT SIS & FHT AT HETRT % At T o SN X T Franea o qoiia &
v AgE &A1 aF

ST AT & qHET FRAR! o AT @ % SR SR TH HrIatedr s FHI & qeErd
g TR %

UL SAIHIIT & THET HIEAR! & A @ P SR X TH HEanedl s Gana &
I dF WM d

(a), (b) &R (c) (2) (a) 3R (d)
(b) &R (d) 4) (b), (c) 3R ()
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41. Assertion (A) : Value of marginal product of the worker being greater than the value of

wage cost, the demand for additional worker is created.
Reason (R) : The firm’s profitability shall increase.
Codes :
(1) (A) is incorrect and (R) fails to explain (A).
(2) (A) is correct and (R) is wrong.
(3) Both (A) and (R) are incorrect.

(4) (A) is correct and (R) explains (A).

42. Economic liberalization brought about changes in the scenario of Indian labour force.

Which among the following is not a post liberalization characteristics ?
(1) Market led and private enterprises dominated

(2) Fast re-casualisation and contractualisation of jobs.

(3)  Subsidies and administered price regime

(4) Micro-electronic lead new generation capital and skill intensive technologies.

43. Who among the following viewed, unemployment as outcome of the recession in business

cycle ?

(1) Elliot and Merrill
(2) William Beveridge
(3) Fairchild

(4) Keynes

44. Indian labour force is experiencing new trends in employment. Which among the

following is not a post liberalization characteristic ?
(1) Declining influence of Trade Unions
(2) Increase in contractualisation
(3) Reduction of gap between home and work place
(4) Stability and security of labour
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41.

42.

43.

44.

ATHAT (A) : FHIR & G IS H G BOIGY o & Jod & SI1&T 8H oY Afaiem
IR T T S el & |

HROT (R) : U Dl TN | g g |

£

(1) (A) Ted & 3 (R), (A) i =T & T FGFA € |

(2) (A) W& 3R (R) T € |

(3) (A) IR (R) I TATE |

(4) (A) T T 3R (R), (A) H AT HATE |

3N STRIHOT F YRAD &7 i & TG | IR o & | ffetad 3§ | o1 SIRIH0T &
Bl REN R L

(1) IR 3 7R =T Se| 1 e

(2) e O ST 31X ASHIY T WIARTHT

(3) TSTEETET 3T WO Jod e

(4) eI SARa 7% gt S SR et e siifienat

Frfetad 5 9 forae SRISTTRT Sl SR =5k § HT T IROTH T4 & 2
(1) zferae R aka

(2) Taferam saRs

(3) ETAETE

4w

IRATF S VIRt ASTIR o &1 | 71 Jgi o1 3199d e el & | 7 § @ U i 9T SERIHT B
T i ToreTeeT et & 2

(1) TSTgY HEll % U1 <l W &

(2) SRR § g

(3) B UH - % S= Bl 6 HH B

(4)  om FerRa & g
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45. Theories of labour welfare constitute the conceptual framework of labour welfare. In the
names of the theories given below, pick the wrong ones :

(a) The Police Theory

(b) The Need Theory

(c) The Religions Theory

(d) The Friendship Theory
(e) The Philanthropic Theory
(f)  The Trusteeship Theory

Codes :
(I) (a)and (e) (2) (e) and ()
(3) (b)and (d) (4) (c) and ()

46. Which of the following statement is not correct ?
(1) Demand for labour may be different in short run and long run.
(2) Demand for labour decreases when wages increases.
(3) Demand for labour increases when the supply decreases.

(4) Demand for labour is always constant.

47. Assertion (A) : Welfare is a total concept.

Reason (R) : Itis a desirable state of existence involving physical, mental, moral and
emotional well being.

Codes :

(1) (A) is correct and (R) is wrong.

(2) Both (A) and (R) are correct and (R) explains (A).
(3) (A)is wrong and (R) is correct.

(4) Both (A) and (R) are wrong.

48. Provisions for labour welfare are contained under the directive principles of state policy of
our constitution. Which among the following articles does not contain provisions for
labour welfare ?

(1) Article 43 (2) Article 42
(3) Article 41 (4) Article 40
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45.

46.

47.

48.

ST HedToT % (Hgid | S o] i STURUNHS &l FHled il & | =9 fqu v fagia & i
H ¥ TTerd 9gid 1 9 HiT ;

(a) Hfers T

(b) TEvIHdT ST

(c) «ie fagi

(d) T fegia

(e) TARIUHR MG

() e fagrd

£

(1) (@) #R(e) ) (o) 3R (H)
(3) (b 3R (d) @ (o) 3D

1 o @ i 1 e W 2

(1) =/ & °FT STeamaty ud rematy | i1 &1 ekt & |
(2) 9 Bl T Gl & ST Aol dedt € |

(3) 5 St H AR & T 57 H S e ¥

(4) =19 0 HIT EHET fRR WAt € |

AMUHYT (A) @ HoAT U JUT STOURIT T |

HIUT (R) : I8 VIRINGR, ATaes, e e Ta-Teis e i IMMHeT i gu iR i
T fEfd g |

E T

(1) (A)F& & 3R (R) Tod & |

(2) (A) 3T (R) SHT W&l & 3R (R), (A) T AT HAT T |
(3) (A) T & 3R (R) T&T & |

4) (A) IR (R) I TATE |

TAN WL o T o Aifd (591 awal B 5 a7 § Gatyd suary e ¢ | fFfafad o
Y oh =T | 91 HodTul ¥ Tl SUSY =i 6l € ?

(1) =% 43 (2) FT=T 42

(3) =T 41 (4) =T 40
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49. Match the following :

Content

a. Co-ordinated approach promotes
healthy development of worker in
his work, home and community.

b. Consultation with and agreement of
workers in the formulation and
implementation of welfare services
are necessary for success of the
organization.

c. Employers and workers are both
responsible for labour welfare.

d. Evaluation of existing welfare
services on a periodical basis by
some designated person.

Codes :

a b c d

(H i VI VB \%

(2) iv il i i

3) ii i iv il

4) i il i iv

Principle of Labour Welfare

1.

il.

1il.

1v.

Principle of Accountability

Principle of Responsibility

Principle of Association

Principle of Integration

50. There are workers’ organizations which provide welfare facilities to their members.
Prominent among them are

(a)
(b)
(©)
(d

Textile Labour Association, Ahmedabad

Rashtriya Mill Mazdoor Sangh
Mill Mazdoor Sabha

Transport and Dock Workers” Union

Tick the correct order on the basis of year of their establishment :
Codes :

€]
2
3)
4

Paper-I1

@ B © @
1916 1941 1947 1932
1932 1916 1941 1947
1941 1932 1916 1947
1947 1941 1916 1932
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o

49. Ffefad s gafed &

a.

ey
2
3)
4

IEERECES|
TR FfehioT 1, B SN WEE |
HIAR % W {IehTE =l Uiediied s
tl

FHeAT HATSA B AR HA T 3TH
FHEEET § HHATRT o JqE WY 31T
3T WEHld TS T WHAd & [T
ANMEATTFH & |

e 2R HEIR SHT 98 HoamT &
ot e € |

fordll T =afe 5T At 3R T
AT FHeATOT YT T G
a b c d
1 ii i v
v il ii 1
ii 1 v il
1ii ii 1 v

SR FHedTuT & fagia
i  RR @ s

i, SOEIge o g

iii. e % fagia

iv. TSI & gid

50. SHIIRI % GTe € ST 30 TS ol hedo] Gewmd veH i € | 3790 ¥ 9qE &

(a)
(b)
()
(d)

IS e’ UHINAUYH, STeHgTEs
e feT wIgY wE
THeT ASTge ot

TS WU S Ty o

ITh! T o oY o TR T 3o Fal 5hH ol FafeTd oY
TR

(=N

€]
2
3)
4
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